Dynamics Homework 6
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Drilrod 17-16 A drill rod for geologic exploration is 20,000 ft

long, and it lies radially in the earth’s crust.
Calculate the linear velocities and acceler-
ations of the ends 4 and B of the rod caused
by rotation of the carth. The rod is located at
40° north latitude. Assume that the radius of
the carth is 3960 mi, and that the earth makes
one complete revolution about ts axis in 24 h.
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1.5 m are pinned at A and B. Determine the
velocity ve and aceeleration ac if ©,
03 radfs,o; = 0,0, = 02 rad/s, anda, =
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17-95  AB =3tand BC = 2ftin Fig. P17-94.00, =
04 radfs, @, = 02 rad/s* (increasing @,),
; = 03 radfs, and @, = —02 rad/s®





[image: image6.png]17-37 The four identical links of a toggle mechanism
are moved by the_ hydraulic actuator A.
Calculate the relative velocity of joints C
and E if B.and. D are separating-at the rate
of 4 fit/s. : '

17-38 Determine the instantaneous center of rota-
tion and the angular velocity of link CD in
.. Prob.17-37. :
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A wheel of radius r = 50 em is rolling with-
out slipping: Determine the accelerations. of
points 4 -and B for vo = 20i m/s and a5 =
3 m/s2.

A wheel of radius # = 2 ft is rolling without
slipping, Determine the accelerations  of
points C and D in Fig. P17-55 for ¥5 =
100i ft/s and ap = —20i ft/s%.

Sketch on a single diagram of a wheel the
acceleration vectors of points 4, B, C, and D

in Fig. P17-55. Evaluate these using the values
P T TS TUUIUE SURIE ' YRE SR B N ¥ 4
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